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3- OR Gate
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4- NAND Gate
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5- NOR Gate
OR + NOT 4l e 3ke A
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6- Exclusive OR Gate
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7- Exclusive NOR Gate
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Rules and lows of Boolean Algebra  (Abialf padly dalid) Syl il g 40/ 4

1- A+B =B+A Sl oy gild
A.B=B.A
2- Associative Low Los gilf o gild

A+(B+C)= (A+B)+C
A(BC) =(AB)C

3- Distributive Low & s Gsild
A(B+C)=AB+AC

Basic Rules of Boolean Algebra (kisl uadf Lualu) il il

1- A+0=A

2- A+1=1

3- A.0=0

4- A.1=A

5- A+A=A

6- A+A=1

7- A.A=A

8- A.A=0

9- A=A

10 - A+AB=A
11 - A+AB=A+B
12 - (A+B)(A+C)=A+BC
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Example 1:- ABC =A+B+C

Example 2:-(A + B) + CD

(A+B).CD

(A+ B).CD




Example 3:-(A + B)CD + E + F

(A+B) +CD.E.F

(A+B)+C+D.E.F
F

t

A.B+C+D.

Boolean Expression 4uibialf uleil

1- Sum —of — Product iy pdl par

Example 4 :- AB+ BCD +BDE

2- Product-of — Sum Esxanl s

Example 5:- (A+B)(C+D+E)( E+F)




Simplification Of Boolean Expression 4uibialf uleilf faisd
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Example 6:- Simplify the Expression
AB +A(B+C)+B(B+0)

AB +AB +AC+ BB + BC

AB + AC +BB + BC

AB + AC + B+ BC

AB + AC + B(1+C)

AB + AC +B

B (A+1) + AC

B+AC

Example 7:- Simplify the Expression
[AB(C + BD) + AB]C

[ABC + ABBD + AB]C

[ABC + AB]C

ABCC + ABC

ABC + ABC

BC(A + A)

BC.1= BC

The Karnaugh Map <L cithbia
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Example 8:- Represent The Following Function Using Karnaugh Map

F={1,2} F=AB + AB
01
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Example 9:- Represent The Following Function Using Karnaugh Map

F=%{1,257)} F=ABC + ABC + ABC + ABC
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Example 10:- Represent The Following Function Using Karnaugh Map

F=Y{0,1510,11)} F=ABCD + ABCD + ABCD + ABCD + ABCD




S 00 01 11 10
Oo 1 0 1 1 3 2
01 4 1 5 7 6
11 12 13 15 14
10 8 9 1 11 1 10

- LUl of gl i M gudaily S gl Bodit (4 g LS Cillabiio sl -; 4fiaSla

L O ptial) a8 cus g o o] LS Bahasay ANl fiiad )
(AL e o gliiall jadal ol b pde da) gl o s giad il 5 gladialf AN (ha dliie O eSi - F
.(2,4,8,) 284
Al a8 glate LB 4 Ao o ging il AT LYK 8 o g giny o4l gliial) (S Yl Jui - F
LB e
8 O b e slhia (o JSY LT Of (Sas daly o o giad ) s gl LS - dbiadla
o s ptlic sl g o (5 ging pdad) Gliiad)

L 1 ° 1 ! 1 3 1 ]
4 5 7 °
1 12 1 13 15 14

\[ T B 1 9 1 1 J. ]10

Example 11:- Simplify The Following Function Using Karnaugh Map:-
F=>{0,28,9,10,611,12,13, 14,15}

1 3
1 ° 1

/_ﬁ
H
o
H
©
H
-
[




e : 1
A JSy Do) (155 5
A B C D A B C D
1 1 0 O O 0 0 O
1 1 0 1 O 0 1 O
1 1 1 1 1 0 0 O
1 1 1 O 1 0 1 0
1 0 0 1 BD
1 01 1
1 0 0 O
1 01 0
A
F=A+BD
Example 12:- Simplify The Following Function Using Karnaugh Map:-
F=>{0,1,2,3,8,9, 10,11, 12, 14}
0 1 3
[ 1 1 1 1 j
4 5 7 °
1 12 13 15 1 14
[ 1 8 9 1 11 1 ] 10
A B C D A B C D
0O 00 O 1 1 0 0
0 0 0 1 1 0 0 O
0 01 1 1 1 1 O
0 01 O 1 0 1 O
1 0 0 O AD
1 0 0 1
1 01 O
1 01 1
B
F =B+ AD
Examplel3:- Simplify using karnaugh map a logic circuit of 4-input A,B,C
and D, the output will be (1) when (D=0 ).
Examplel4:- simplify using karnaugh map a logic circuit of 4-input A,B,C
and D, the output will be (1) when (AB+D=1).




